Calculating K Constant for Springs A-F Using the Graph
Use the graph that you made on the other side of this paper to find the slope of the line created for each spring.  The equation for slope is; SLOPE = RISE/RUN = ΔY/∆X.  The answer that you get for the slope is the K constant for that spring.

Show the calculation for the slope of each line below.  For every calculation write the equation, plug in the numbers, and show the answer.

Spring A:

Average k for all spring A trials =

Spring B:

Average k for all spring B trials =
Spring C:

Average k for all spring C trials =
Spring D:

Average k for all spring D trials =
Spring E:

Average k for all spring E trials =
Spring F:

Average k for all spring F trials =
What is the relationship between the average k for each spring and the slope of the spring’s line?
